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MOTOR AND TRANSFORMER REWINDING

( Theory )
(602/702)

1% Hours ] [ Maximum Marks : 30
1% =02 | [ qUife : 30
Attempt all questions.
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PART-A
I3

(i) Answer the following questions in 30 to 40 words each.
ffaRaa Tl § T% % I 30 ¥ 40 ¥eal § ford |
(i) Each question carries 2 marks.

TIF I &Y 3T H 2

Name the types of transformer as per core. Also state why core is laminated.

FR % YR W B % YR ! AHIThd L T FdTd Rl ABAE FT 541 2 |

Describe the functions of conservator and breather in power transformer.

T ZIEHH | hesiteet 31T siet & Sl i aui i |

Write the procedure for rewinding a single-phase step-down center-tapped
transformer.

Teh Tt % 20 -S134 GeX-3T8 JEHH ol Narge & i fafer ford |

Distinguish between series-field winding and shunt-field winding of a DC machine.
T o Hio WA & HHIS-ice AEfen qo ve-Fiee ATEfET § 3 TE & |
Or/ s94qr1

State Faraday’s law of electromagnetic induction.

e % FEHT SeaeH % om0 ford |

Differentiate between lap and wave winding of a DC armature.

Teh Slo Hlo MHIX il AT qAT 9 AEIST | 3T TF Rt |

602/702/VOC/933 3 [ P.T.O.

Download From: http://cbseportal.com




10.

11.

12.

. Why is starter essential for starting induction motor? Name the different types of

starters used with AC motor.

TSR HIeT ol TS i oh ToTU T2TET 1 STTa9eh & ¢ Tafsrel Weh o ToHTo HIEL] o ¥2T6d o A1 ford |

Calculate the electrical degree per slot for 3-phase motor of 48 slots, 8-pole motor.
Also indicate the no. of slots for taking out three starting leads.

Teh 3-%, 48-TAle, 8-UicT I Tl SAfdeshed Teift/Taaie sl T ot qer I8 +ft sramd o6 o9 sy &
it & o ° fopaa Tatal 1 3= g

Summarize the procedure for impregnating the armature winding with varnish.

HTH=R TS bl AT % T SR L % e =1 wara | =i a6

Enumerate the purpose of using the following in single-phase capacitor motor :
(A) Two windings (B) Centrifugal switch

(C) Capacitor

ffefiad o Teher-thel ShUfdet Hiet § TN o 3299 foid :

(A) @ awfeT (B) ErepTet fear

(C) Fufgzx

Name the essential equipments and instruments required to be installed on a
switch-board for running a squirrel-cage induction motor of 10 HP. Sketch the
diagram.

T 10 THo o feaa-hsl 3-eaM HISK i I og & e T TIY S aTel STavaeh HT9ehaa) qei
YR & A ford qen fom |

State the formula of pump efficiency and define hydraulic efficiency of pump.

orq ol THITRE T g T den ord o aTEgiicres ThHIRRRT oht afeam ford |

What is priming in centrifugal pump? How is this done? Name the three methods.

R we § yTefin o 27 wrefi R yeer | a2 7 gmeht oiF fafere % am ford |
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PART-B

-

(i) Complete the following sentences.

ffefaa amei =t 90w

(i) Each question carries 2 mark.
Tk TR ST 3T A 2|

The main reason of deterioration of insulation is in transformer oil.

TYAYH W B ol G&T HR0 B ATTA H —— 2|

The sleeve is used to insulate the winding —.

AEFET & —— 1 3N B o foTC Tl 61 R {a S 2

The brushes of electric machine are made from —.

Folfesh U & S —— ¥ ¢ 914G 2 |

In case of direct coupling of motor with pump —— should be used.

HIE I TFT © T SeA o T —— 1 S 1 e

The direction of rotation of repulsion motor can be changed by putting the carbon
brushes at from its original position.

ST HTe ST ohl ARt TRIfd 8 —— 9 Sed ST @, d oo Hiet shi = sed St 2

18. The earth electrode should not have resistance more than ohms.
19} geAdie i e —— oM @ srfess &t et =Ry
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PART-C
A

Note : (i) Write the appropriate alternative.
& IW 1 FAE H
(i) Each question carries 72 mark.
Tk Y 3T 3 A B |

19. The insulation between commutator segment is of

(A) fiber (B) Bakelite
(C) mica (D) asbestos
FELR T % T § T gY Bl

(A) RTESR I (B) ShcITEe A
(C) HTgHI A (D) TEwH &

20. The protective device used in the starter to protect the motor from excessive current
is
(A) no voltage release coil
(B) overload release coil
(C) contractors
(D) None of these
Hiet il (Y e ¥ =M & 70 et § W0 2 arel s 3 @
(A) - fiefis Fiaa
(B) R-dre Weits wrad
(C) e

(D) 3WRE | | g al

21. In a single-phase induction motor, starting winding is disconnected by

(A) intermediate switch (B) tumbler switch

(C) centrifugal switch (D) DPIC main switch

T RATA-Whel Sreav Hie | 1o aTgfen i el Sl &

(A) zeofifere fa= g (B) zrer &= g

(C) W<IFa fe= g/ (D) <o o 3o Hio ¥ fea= g
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22. Pump is machine.
(A) mechanical (B) electrical
(C) hydraulic (D) thermal
g U —— WA
(A) R (B) wifazhet
(C) wTEgiic (D) ofa

23. The device through which current is given to DC armature winding is

(A) rocker (B) shaft
(C) commutator (D) pole
fore 3uRtor 3T o Hio MR I e femm wmam 27
(A) T (B) 3w
(©) FFpR= (D) e
24. The power in a 3-phase Delta connection is
(A) ~3VyIp,coso (B) 3VpyIcosd
(C) ~3VyIycosd (D) None of these
3-%hsl el T | e Bl B
A) V3 Vi, Ipy cos o (B) \/§Vph Iocos¢
(©) \/§V212003¢ (D) ITE H | g T
* kK
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